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Political Science
Paper II

USEIGRCEIE]
wyatent I1

Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

O @ A TR TR PR (100) TETEET URA foeel ofed. T ween g (2)
U Med. |d W e

1. In which of the following Act British | 1. YWY JerERR IEEE Bogeag 313

Government declared that its FET T ¥ e aES Sfew .

objective is the gradual introduction

T WCieTish! IV HIEAGIRIR TIH

of responsible government in

HIfd el ?

India ?

(A) 1858 =T TegHe 3TH sfean 3l
(A) Government of India Act of 1858

(B) 1909 = TeetHe ATF sfean afF
(B) Government of India Act of 1909

(C) Government of India Act of 1919 (C) 1919 =1 TTgTHE ST e S

(D) Government of India Act of 1935 (D) 1935 =1 TeEAHe E sfed i

3 [P.T.O.



Match the following correctly :

Name of Province
(a) Bombay
(b) Madras
(¢) Bihar
(d) West Bengal

No. of Members in the

Constituent Assembly
(O 19
(2) 49
3 21
(4) 36
Codes :
(@ ) (© @
A @ @O @2 3
B @O @ @ @
© 3 2 O @

M B @ @ @

APR - 15224/II—D
I Sedl Sl
idrel e

(@) =i
(b) HsH
(¢) fo=r
(@) wf=m =

Hfqam™ wameia 9ew el
(1) 19
(2) 49
3) 21
4) 36
Hehdleh :

(@ ®) () (@
A« O @@ 3
B @O @ & @
< 3 @ O @

M B @2 @ @




The principle of “Procedure
established by Law” which is related
to judicial review in the Indian
Constitution is adopted from which

country’s Constitution ?

(A) American Constitution

(B) Japanese Constitution

(C) British Constitution

(D) Canadian Constitution

Which part of the Indian Constitution
deals with the powers of Parliament
to amend the Constitution and its

procedure ?

(A) Part X

(B) Part XV

(C) Part XX

(D) Part XIX

APR - 15224/11—-D

e Tid FREgSdr’ ! § e

qAf AR el STHR R

ST IVl ST TS aed

el SR ?

(A) THTRT TsTEe

(B) STU= ToErEEAl

(C) fordter Teaere

(D) TSl T

YA TSTEEA=A1 HI0A] ITHES

THEA AU U 0] SR

9 IS hrAdgdr Irel SHe

el g ?
(A) 9 T&
(B) WM 9&{
(C) wm =Y

(D) 9 TeRIOH

[P.T.O.



Which of the following statements
is not correct about President of

India ?

(@) The President of India is vested
with Power Pocket Veto

(b) The President of India is vested
with Power Qualified Veto

(¢) The President of India is vested

with Power Suspensive Veto

(d) The President of India is vested
with Power Absolute Veto

Codes :

(A) Only (c)
(B) Only (d)
(C) Only (&)
(D) Only (@)

Who appoints Chairman of all
Parliamentary Committees of the

Lok Sabha ?
(A) Prime Minister
(B) President
(C) Vice President

(D) Speaker of the Lok Sabha

APR - 15224/11—-D

AT TSSO Wit hIoTd
faum Tept=n e ?
(@) A=A WSEYAAT

sAfeR e

(b) HRATeA USCUA FTARE/
TTUIcHSR Seell SAMYRR T

-

N S
he Rl

ko3

() YRAT=AT T FoTa/acgLa

=T SfUsR 3R

(d) ARG TS Aoagede/ Ry
oA AfHR 3

Hehdich :

(A) B (c)

(B) &K (d)

(C) F (b)

D) = (@)

TR = Hel THa I | sTea=
THUE IV FH@ ?

(A) dawem

(B) Tregud

(C) Uyl

(D) wREIE G




Which Supreme Court Judge
propounded the principle of “Public

Interest Litigation” in India ?
(A) Justice S.M. Sikri

(B) dJustice P.N. Bhagavati
(C) Justice Koka Subbarao
(D) Justice Mudholkar

In which Article of the Indian
Constitution there is provision of
Abolition or creation of Legislative

Councils in States ?
(A) Article 169
(B) Article 170
(C) Article 171
(D) Article 172

Who appoints the Chairperson of the

State Human Rights Commission ?
(A) President
(B) Supreme Court Chief Justice
(C) Governor

(D) Prime Minister

APR - 15224/11—-D

YRAHES SH(ed AMdeh] § ax hIve

Haled = e gfadifed
T 7

(A) =l T, A e

(B) =T . TA. e

(C) =Rl i FoANE

(D) = et

Teamed faum ufteg foafsa s

e IO X0l ATETea= Te IR

TSTHEAHE] RVl HoTHHED  HL0ITd
MeAet AR ?

(A) =< 169

(B) =™ 170
(C) =hemm 171

(D) heH 172

T qFd AfRR ST 1A=t

THUE 10 RN ?

(A) T

(B) Hal=a <o ey
(C) T4

(D) g9

[P.T.O.



10. Who is the Chairman of the

11.

Metropolitan Planning Committee ?
(A) Mayor
(B) Chief Minister

(C) Commissioner of Municipal

Corporation
(D) Minister of Urban Development
Ministry

Which of the following Commissions
is related with India’s planning and

development ?

(A) NITI Aayog and Union Public

Service Commission

(B) Planning Commission and NITI

Aayog

(C) Finance Commission and State

Re-organisation Commission

(D) Backward Class Commission

and Backward Caste Commission

APR - 15224/11—-D

10. Her R TS 9fgd= 31ege] &I

11.

A ?
(A) TR

(B) A=A

(C) HETTRUIeTehl eI

(D) v Toormm wre w5

TSN

TATeTUehT 10T STENT TRarAT e

U EEI IR EIERE IR

(A) Tl SmEn oo g Ry

AN

(B) fEeH ™M eqfor il S

(C) o s anfor T G=T S

(D) HFTEET ATIA 0T A S

AN




12. Who was the proponent of ‘Congress

13.

system’ ?

(A) Pandit Nehru
(B) Rajni Kothari
(C) Indira Gandhi
(D) Rajeev Gandhi

Which demand was made by
Bombay Plan before Constitution
Assembly about planning and

development ?

(A) State stays neutral about

economy

(B) State should faith only in
capitalism

(C) State take initiative for
industrial and other
development

(D) State should be abolish and

established stateless society

12.

13.

APR - 15224/11—-D

HIUY HoE I Hehedda Yokl i
e ?

(A) dufed T&®
(B) T hISRT
(C) Efew wieh
(D) TStE Tmed
TS anfor foehmmEgYia sl =gl

AN N a

EEATOTHA S hivTd]

U1 HeogTd

el ?

(A) TSI TadeTed e g

(B) US9M e WiSaaieneey favarg

AT

(C) TsaM efEfites emfor v faeshr-

sleld Helen(X =Aldl

—~

(D) Tog T Hd d TAger THS

LG TE!

[P.T.O.



14. Which is one of the objective of the

15.

first five year plan ?

(A) Implementation of higher

education in rural area

(B) Industrial revolution is state’s

first priority

(C) Implementation of agriculture

and industrial policy

(D) Get the country’s economy out

of the cycle of poverty

Who was the architech of Second

Five Year Plan ?

(A) Lal Bahadur Shastri

(B) P.C. Mahalnobis

(C) P.C. Alexander

(D) Droupadi Murmu

14.

15.

APR - 15224/11—-D

~c ~

qfged gedtieh AT U e § &

B -

(A) 3=9 TH1e7o1 &M=l UTHO 9T

-~

STHCTOSTE ol

o N e

(B) ¥eenfiteh sl & oo ufget 3fese

e

(C) Tt o7for SS=iT o=l STl

SISO Lo

(D) <M RS S@ART @l v

SO Talfte A fReusR i

'd 2

(A) TeTeIEIgY TME
(B) ¥ HereHeE
(C) 4. sicmRe
(D) et 75

10



16.

17.

Choose the correct answer about
Congress party which declared that
socialist pattern of society was its

goal ?

(A) New Delhi - 1947

(B) Madras (Aawdi) - 1956
(C) Mumbai - 1960

(D) Bangalore - 1972

Statement (A) : Initially, India’s
economy is described as ‘Mixed

Economy’.

Statement (B) : Elements from
both capitalist as well as socialist

model was adopted.

(A) Statement (A) is false and
statement (B) is not a right

explanation of (A)

(B) Statement (A) is correct and
statement (B) is right explanation

(C) Statement (A) and statement
(B) both are false

(D) Statement (A) is false and

statement (B) is correct answer

of (A)

16.

17.

APR - 15224/11—-D

FHIH TG GHISER] SAH ey §
3Tl 3fgse T SRRl aHeyld A
=g faer

(A) 7ot feeedt - 1947
(B) Hg™ (3T9El) - 1956

(C) g - 1960
(D) =R - 1972

ferem (A) : gEardien yraren sdereeda
U T stefeaEen o ®el .

faram= (B) : s i gHrSene] St

SATFfELIT W2 THIHRUA 3

(A) faum (A) T o1 9 faum (B)
M AT TSR0 ATal

(B) faam (A) I/g o1g 9 faam (B)
N G SR 3R

(C) faum (A) anfn faum (B) =&t
ThiA TR

(D) faum (A) 9= &R 9 (B) ¥ (A)
T A TW IR

11

[P.T.O.
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18. Choose the incorrect answer about political party and their existing

18.

President :

Political Party

(A) Congress Party

(B) Bhartiya Janata Party

(C) Babujan Samaj Party

(D) Telugu Desam Party

President

(1) Mallikarjun Kharge

(@) J.P. Nadda

(zit) Mayawati

(tv) YRS Rajshekhar Reddy

Tehid T8 0T I= SAede] adiel Sfang S il

TSTehta q&T
(A) HUF 99
(B) YR ST U&
(C) dgsi1 HHN 94

(D) AT 3TH

AreTey

(i) Wfcererre BT
@) SO g
(ii) W

(fv) @@ . TH. TSREL g1

12
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19. Who was the proponent of ‘Non- | 19. ‘fo'R &iigarR’ =1 MM I 10T
Congressism’ strategy in Indian T ?
Politics ? .
(A) Tge e
(A) Rahul Gandhi
(B) sfew et
(B) Indira Gandhi
(C) Mahatma Gandhi (C) waRF T
(D) Dr. Ram Manohar Lohia (D) =T TR Ehfe
20. Which political party secure majority | 20. I TSTehid Y& 213q1 ITdhd
first time in India in 21st centuary ? iecdel dgAd 9T el 2
(A) Telugu Desam (A) der] <A
(B) Bhartiya Janata Party (B) 9RAM™ ST e
(C) DMK (€) T4
(D) Y.R.S. Congress (D) 3. SRTH. FHEE
21. Who among the following has called | 21- ereierd®] R IRy
development administration as, "HiITTE, SRAE RTERE g
‘an action-oriented, goal-oriented I TaES e ?
administrative system’ ?
(A) Tk =g, fost
(A) F.W. Riggs
B) Uee <=
(B) Robert Chambers ®)
(C) Edward Weidner (C) TETE FEW
(D) Robert Dahl D) T =7
13 [P.T.O.



22.

23.

Who among the following developed

the model of ‘Administrative Man’ ?

(A) Chester Barnard

(B) Abraham Maslow

(C) Douglas Mcgregor

(D) Herbert Simon

Which among the following thinkers

is associated an interaction between

administrative system and their

environment ?

(A) F.W. Riggs

(B) Max Weber

(C) Karl Marx

(D) Herbert Simon

22.

23.

APR - 15224/TI—D
Eretaden] HIv gRITEERE A
&y foepfad sl ?
(A) =R T\
(B) oTsiTgH Hredl
(C) ST HHITR

(D) ®eld TEHA

o N N = ~ . o
CldletYen] onlbIdl TddIRad HRAHAeh i+

e ST =Y IaELe AT

TRERYIRR Tafad g ?

(A) Th. s, fod

(B) Wag dsX

(C) =Tel AR

(D) ®&e WEHAA

14



24.

25.

26.

Who among the following is

considered as the father of

administrative management

theory ?

(A) Herbert Simon
(B) Chester Barnard
(C) Henry Fayol

(D) Luther Gulick

The word ‘public’ in Public

Administration stands for ............. .
(A) Private Corporations

(B) Government

(C) Market

(D) Civil Society

Which ideology champions the cause

of free market ?

(A) Communitarianism
(B) Socialism

(C) New Right

(D) New Left

24.

25.

26.

APR - 15224/11—-D

TeTeAUeh] ShIvTel USRI E SHeEaTTT

g SMeh Al SId 2
(A) T FEEA
(B) =& &l
(C) &1 A

(D) g T[feAeh

HrestfTeh YIMEATe ‘ Hese | Il

(A) T HEMHes
(B) E&R
(C) 9N’

(D) T HEen

SRV ForamRem g SeUSe oy
2

(A) Hr=ER

(B) gHIER

(C) oM #fHRR
(D) A =

15

[P.T.O.



27.

28.

29.

Who among the following has
invented the technique ‘Management

by Objective’ ?
(A) M.P. Follet
(B) Chester Barnard
(C) Abraham Maslow
(D) Peter F. Drucker

‘Creative Experience’ (1924) is the
book written by :

(A) Herbert Simon
(B) Luther Gulick
(C) M.P. Follett

(D) Chester Barnard

Who among the following considered
New Public Management as

‘marriage of opposites’ ?
(A) David Osbone

(B) Christopher Hood
(C) Shireen Lateef

(D) Camilla Stivers

27.

28.

29.

APR - 15224/11—-D

EeleTyeh! vl ‘iR sewerT

TAET Y e g ?
(A) TH. Tl. W

(B) =R i

(C) 3Teirgd wredl

(D) WX TH. TR

‘Trdies Taafaiag’ (1924) © T
it fafes 2

(A) =& HEHA

(B) TG Tfeth

(C) TH.U. wlE

(D) =& WS

WIATTUeh! ShIUI el TEsTeh SHaEITITe

[

Y L4 ? b
TR = SR’ OFel 7

(A) =fes e
(B) o=t §©
(C) fo’E ad®

(D) =fqen foeed

16



30. Who among the following is the

editor of the book ‘Toward a New

Public Administration’ ?

(A) Frank Marini

(B) Dwight Waldo

(C) H. George Fredrickson

APR - 15224/11—-D

30. el '2oE o1 g Ul stefifresm’

I TR HUEE R ARd 7

(A) Ther AT

(B) gamE aTeel

(C) W=. SN Bigadd

(D) Mark Bevir (D) ==
31. Which of the following writ is issued | 31. SIS = Hded TR ASTAEE
to compel an authority to do his fenelm =T SATERTET ST FI0AE AT
duties or exercise his/her powers ? HETAINTCl el s STl
el S@r ?
(A) Writ of Habeas Corpus
(A) sfeaeafisi
(B) Writ of Mandamus
(B) THRE
(C) Writ of Certiorari (©) e
(D) Writ of Prohibition (D) wfas
17 [P.T.O.



32.

33.

Who is called the father of modern
local self-government bodies in

India ?

(A) Lord Ripon
(B) Lord Canning
(C) Lord Lytton
(D) Lord Hardings

Which of the following is/are nature

of the public policy ?
(1) Public policies are goal oriented

(2) Public policy is formulated

without any purpose

(3) Public policy deals with private

company
(A) (1) only
(B) (2) only
(C) (3) only

(D) (2) and (3) only

32.

33.

APR - 15224/11—-D

qRAA YR Tfeh ToeT Txem=

Sk hIUTell Tl S 7
(A) @re R
(B) @ie
(C) wre fereA

(D) e wIfer

AR ShIUTd HTeST ek EuT ey
e/ eATRA ?
(1) wEse 9o sSafage s

(2) e U0 ST SeMTET
TIR ol S

(3) WS €U § @ISl kTSl
afad a1

(A) w1 (1)

(B) w1 (2)

(C) ®F (3)

(D) e (2) U (3)

18



34. Choose the correct option regarding

35.

elements of Good Governance :

(1)

Transparency

(2) Accountability

3)

Participation

4)

Responsiveness

(A) (1), (2), (3) only

(B) (1), (2), (4) only
(C) (1), (3), (4) only

D) (1), (2), (3), (4) only

Which of the following pairs is not

correctly matched ?

(A) Pradhan Mantri Awas Yojana
— Rich People

(B) Pradhan Mantri Awas Yojana
— Urban Poor

(C) Pradhan Mantri Awas Yojana

— Rural Poor

(D) Pradhan Mantri Awas Yojana

— Rural and Urban Poor

APR - 15224/11—-D

34. e TeEATAT HIHAEE AT TAA

35.

aer
RIECHETI|
SEICHH

1
(2)
(3) HEHT
EINEI

(1), (2), (3) ®ad

(4)
(A)
(B) (1), (2), (4) e
(C) (1), (3), (4) T

D) D), @), 3), (4) B

ETeleTeh! IV SiTe! sRIaY S[eaee

T ?

(A) WS STETE TS - SiHd wren
(B) JHMHS e AT - TRl T
(C) TS SAeE AT - A T

(D) GYTTHET SATemd IS — T 2oy

e TR

19
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36.

37.

38.

What plays a fundamental role in
implementing corporate social

responsibility ?

(A) Social Audit

(B) Income Tax Department

(C) Public Accounts Committee
(D) Central Bureau of Investigation

Which factor is interaction that ties

the state to civil society ?
(A) Military

(B) Guerilla War

(C) Authoritarian Leadership
(D) Governance

Which among the following is not

regional development policies ?

(A) Development of backward

regions
(B) Industrial location

(C) Urban growth

(D) Nationalization of industries

36.

317.

38.

APR - 15224/11—-D

FIURE WTHTTSTR STAeI=! STHASSITEoT

FOAT IO JAYd YR AT ?

(A) | TEToRier (3fsheon)
(B) Mgt faum

(C) ik eran afid

(D) ®gE T2 F=u0 fFam

T PRI HHTSTRI SIS0 OEREaG
T U AR 7

A) Hfe

(B) TR I3

(C) wafeh® "ge

(D) 999 =E8R

WeAeTteh! HI0d IR s &R
T ?

(A) UFTE Weum=n o

(B) =f=nfes &=
(C) VU=t 9%

(D) SEWT= TSR

20
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39. Which section of the National Rural | 39 w&dim oo Iomm g6t *mET, 2005
Employment Guarantee Act, 2005 (NREGA) =N S/ e Frafa
(NREGA) provides for regular .

TS ST AR TR ?
“Social Audit” ?
(A) 9T 15
(A) Section 15
(B) 91 16
(B) Section 16
C) ym 17
(C) Section 17 ©)
(D) Section 18 (D) T 18
40. Which is the first state in India to | 40. NI FTATATET T LR
establish the office of Lokayukta ? YAl Ufedd ToF Svd ?
(A) Maharashtra (A) HERT™E
(B) Odisha (B) sfifesm
(C) Tamil Nadu (C) diHesTg
(D) Kerala (D) &=
21 [P.T.O.



41.

42.

The declaration that he would rather

be ‘Socrates dissatisfied than a fool

satisfied’ was made by :

(A) L.T. Hobhouse

(B) J.A. Hobson

(C) T.H. Green

(D) John Stuart Mill

Who among the following thinkers

characterized early liberalism as

‘possessive individualism’ ?

(A) Jeremy Bentham

(B) C.B. Macpherson

(C) Milton Friedman

(D) T.H. Green

41.

42.

APR - 15224/11—-D

‘T TEE @ STEUETe  STEEEE

LY e

o [

U q9d el B SISO 0T

el Bl ?

(A) Tadl. gagd
(B) SL.T. ®feqH
(C) & . W

(D) S R fHa

Tt v faarEar geamr=n

SERHASIRTE S daa] Sferars  FuH

Aes@e! ?

(A) SRHT Som

(B) Hi.&. HrmiEa

(C) THeed wiewa

(D) d.T=. wH
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43. The statement ‘Over himself, Over | 43. ‘T&q:@ER, T&d = YRR Ao HAer,
his own body and mind, the e FEOH 3Ed’ © faum e
individual is sovereign’ is associated el Hefud e -
with :

(A) 9™g BleH
(A) Thomas Hobbes

(B) HAr=d 3kl
(B) Machel Oakeshott

(C) WM =R faa
(C) John Stuart Mill
(D) Benjamin Disraeli (D) ST TeRrel

44. Classical liberalism is usually 44. IR SRATEIE Hef? RRCIEIE
associated with the work of : Frfell Heftd o
(A) J.S. Mill A) <. T faw
(B) Jeremy Waldron (B) St aTegi
(C) John Locke (C) i ik
(D) John Rawls (D) S e

45. In whose words the state is regarded | 49 IO ¥IGTd Torel * STeeh S’
as, ‘necessary evil’ ? Y ey Sd ?

(A) Thomas Paine (A) or9 T
(B) John Locke (B) S i
(C) Georgi Plekhanov (C) SISl =iEmles
(D) William Morris (D) faogw wffE
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46.

47.

The book ‘The Feminine Mistique’

is written by ................ .

(A) Betty Friedan

(B) Kate Millett

(C) Marie Curie

(D) Emma Goldman

Who among the following thinker
claim that the basic political
contradiction in modern society is
between ‘man as citizen’ and ‘man

as private individual’ ?

(A) J.S. Mill

(B) Karl Marx

(C) Will Kymlicka

(D) Nathan Glazer

46.

47.

APR - 15224/11—-D

‘T wiggT fafesw’ § T
M feifeel @R,

(A) & Wred

(B) e fiere

(C) =it ==h

(D) W TeeHd

Y N~ L TS i
hHIUTAT JSTeh 19 Toarad 19 AlQHIQA endl

& AV : T AN A0 J0H : Th

SN S IT=Ad USTohid faenyrd

e ?

(A) S.ug. foa

(B) =Tel A

(C) faa ferafetat

(D) g ez

24



APR - 15224/11—-D

48. The idea that individuals are | 48. =¥l @@= Ufas= enfor = quid:
absolute owners of their talents and Hieleh 3Ted &l ko9l shivfl gAEss((od
capacities was revived by : el ?

(A) Robert Nozick (A) W g
(B) John Rawls (B) <A ey
(C) Adam Smith (C) efen fHg
(D) Lenin (D) wf =

49. Who among the following thinkers | 49. WIeliciueh! ShIoTe YHISTARET TSR] A
is considered as Socialist Feminist ? S| ?

(A) Kate Millet (A) =e faeeie
(B) Max Weber (B) ¥ dsR
(C) Friedrich Engels (C) heftw Ty
(D) Betty Friedan (D) =& wrsd

50. Who among the following thinkers | 50. Wefieiyeh! o1 faaRad AT FESTE
called civil society the ‘aggregate feageayr T &' of TUEE ?
sphere of interest’ ?

(A) TSI TH.
(A) G.W.F. Hegel
(B) John Locke ® S i
(C) Charles Fourier (C) e wIfeR
(D) Robert Putnam (D) U AW
25 [P.T.O.



51.

52.

According to Hegel, what is the
connection between the ethical life
of individuals and the State in his

political philosophy ?

(A) The State has no bearing on the

ethical life of individuals

(B) Ethical life is only achievable
in isolation from societal
structures

(C) The ethical life of individuals is
integrally connected to the life

of the State

(D)

Hegel dismisses the concept of

ethical life in political contexts

In Gramscian theory, what does the

concept of “war of position” refer to ?

(A)

Open military conflict between

classes

(B) The struggle for ideological
dominance and control over civil

society

()

Revolutionary uprising

(D) Economic determinism

51.

52.

APR - 15224/11—-D

BT TSeh g draIQTd, ki it
Seq T ST IT=ETd I 9e Y
AR ?

h

oA A= Afde SaTeEr

=01 e e 1 A < Bl 4

(A)

(B) Afqer Sfed wrHfes  SL=HaEA
AfeTa eSS Y TR

L

o~ o

dldch SlleH, {9

AfUTIIY SSelel 319

SIERIEl

(C) =

WY

"ldeh

N

(D) B USRI Hedidrd

SIEEIEIIEE T BB ICALSi
e fagiame, fd= g8 @
Tehou=n Hed w1 e ?

(A) =iaeia Ten awhd Tee

(B) =TI HHISTER 9= o= S

IERERIEIGIRS e

(C) HifderId 3=

(D) anf¥fe fuRarR
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53. What concept in Frantz Fanon’s | 53. Wi HAl= USehid ORI shIowil
political thought emphasizes the Heheql JaTEqarerEl drERfds et
psychological impact of colonialism BT qfAE TROTHET W 29 2
on the colonized individual ?

(A) s freRaR
(A) Economic Determinism

(B) HEhfdes @&drETs
(B) Cultural Relativism
(C) Alienation and Dehumanization ©) il
(D) Historical Materialism (D) Ufderes wifdepas

54. Hannah Arendt’s concept of “the | 54. T RT= " ‘FRa™ 5’ & Hehed
banality of evil” is associated with : FIMENT Faiaa e ?

(A) Machiavelli’s political realism (A) Hframee=n TSehg IrRaaaR
(B) Aristotle’s virtue ethics (B) eifeiee™ wequ e
(C) Eichmann’s role in the Holocaust (C) TICiheZAL] SEYMT=H] et
(D) Rousseau’s social contract (D) ®HET gHSah il

55. Who said, “I do not wish them | 55 ‘e (foomit) qeser tferr Sam
(women) to have power over men, 3T9Tt TTEh S99 e, TR A e
but over themselves” ? SaEn’’ S Hv wurel ?

(A) Simon De Bouvoir (A) fgum T g=a
(B) Shullamith Firestone (B) IEHY RS
(C) Mary Wollstonecraft (C) B0 A=A
(D) Kate Millet (D) #e fHete
27 [P.T.O.



56.

57.

‘The “natural” man will be one in
whom strong conscience and
steadfast reason have successfully
harmonized self-love and sympathy’.

Who advocated this ?
(A) Hobbes

(B) Rousseau

(C) Bentham

(D) Locke

According to Confucius, which
concept emphasizes the importance
of individuals fulfilling their roles
and responsibilities within the social

hierarchy ?
(A) Tian
(B) Dao
(C) Xiao

(D) Li

56.

57.

APR - 15224/11—-D

CUgiitER AE o oE wATHEd

TER HeHgfIdhedsl MU Tad qeh
A STCH-UH ST WRTdl A=A
TR0 GHAE "Sqd S, ¥ Hiqumed
HIOT el ?

(A) =®fsH
(B) &4l
(C) =g

(D) =ik

HHISTF TRTeRH e YfHeRT ST Sfeer=i

[adal

E2ERIG

IR ST Hewd haRE=l,

I Heheo el fawE Hel T 2
(A) feam
(B) =13
(C) fast

(D) =it
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58. Which book of Machiavelli discusses | 58. Hiehaegal=1 FIUGAT JHIhRIT THheTI
the idea of Virtue in the context of Heuid Ton= == oA el e ?
ruler ? L

(A) T R A A
(A) The Art of War
(B) 2 fefew & weede
(B) Two treatise on government
(C) Perfect state © e
(D) Fortuna (D) HI=A

59. According to John Locke, which | 59. S Wie=amAd, WIIAIUeh! IO A9 ieh
amongst the following is not a sfomr TS ?
natural right ?

(A) SHTUETET AfaeRR
(A) Right to Life

(B) Hrerwr= HfeehR
(B) Right to Property
(C) Right to Liberty (C) T SHHHT
(D) Right to Work (D) FTRTUATT STHRR

60. Who said, “Each person possesses an | 60. ‘‘Wcieh ST =AAE MM STHIA
inviolability founded on justice that A HT SR HYU FHNT HEAR
even the welfare of society as a e S9e 3% Yhd A’ 3% IO
whole cannot override” ? T ?

(A) John Rawls (A) St ed
(B) Robert Nozick (B) Wee =itaeh
(C) Friedrich Hayek (C) weiw =%
(D) Habermas (D) E=HE
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61.

62.

63.

Who wrote the book ‘The Home and
The World” ?

(A) Jawaharlal Nehru
(B) Rabindranath Tagore
(C) M. K. Gandhi

(D) Ram Manohar Lohia

Who among the following was the
founder of the ‘Arya Mahila Samaj’
and ‘Sharda Sadan’ ?

(A) Swami Vivekananda

(B) Pandita Ramabai

(C) Swami Dayanand Saraswati
(D) Sri Aurobindo

Who is the author of the book ‘Guilty

Men of India’s Partition’ ?
(A) Dr. B. R. Ambedkar
(B) V.D. Savarkar

(C) Jaiprakash Narayan

(D) Ram Manohar Lohiya

61.

62.

63.

APR - 15224/11—-D

‘T g9 3 T dgea’’ B UY HIU{
fefgem 2

(A) STl Be
(B) Teige MR
(C) T e

(D) T HAR elfea

EeteTient sh1oT * 31 "igen gam’ anfo
‘TIRET EeT A EEY HEAUe Bl 2

[V o

(A) ¥ 1

- .
CEALH

(B) dfedr g

(C) Tl TAMT FEdl

(D) =i swfeR

IR Wi TR A T e
0 T ?

(A) = AR ITeEHT

(B) fa.q1. g

(C) SHIYRIET AR

(D) TH TARR e
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64. Match the following lists of thinkers
and their political concept. Choose
your answer using the codes given

below :
List T
(@ M.K. Gandhi
(b) Jawaharlal Nehru
(¢0 M. N. Roy
(d) Din Dayal Upadhyaya
List II
(1) Panchsheel
(2) Integral Humanism
(3) Trusteeship
(4) Radical Humanism
Codes :

(@ B () (@@
Aa 3 1 @ @
B B3 1 @ @
© @2 1 @ 3
O @O 3 @ @

APR - 15224/11—-D

64. Tel fgoied AR faarea st e

ST Hehe ] M= A Seal .

A e S LN Jay ~
CTefl Igeiedl Hehd JHAHET & 31

EEEIE

et 1

(@) THIH. T

(b) ATEATA T

(¢) WATA. 4
(d) THFEA™ IS

et 11

(1) 9==e

(2) ThIcH HMEIAEG

(3) fovaw Heredd

(4) TUTE ARG

s +
-
.

(@)
A 3)
B) 3)
€ @)

D) 1)

®)
(1)
(1)
(1)
3)

@)
(4)
(2)
(4)
(4)

(d)
(2)
4)
3)
2)
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65.

66.

67.

Who among the following thinkers
established the
‘Abhinav Bharat’ ?

organisation

(A) Swami Vivekananda
(B) V.D. Savarkar
(C) Shri Aurobindo

(D) Rabindranath Tagore

Which one of the following options
was not a part of Bal Gangadhar

Tilak ‘Four Point Programme’ ?
(A) Swadeshi

(B) Ganesh festival

(C) Boycott

(D) National Education

Which of the following thinkers was
associated with ‘Self Respect

Movement’ ?

(A) Jayaprakash Narayan
(B) E.V. Ramasamy

(C) V.D. Savarkar

(D) Shri Aurobindo

65.

66.

67.

APR - 15224/11—-D

WATAdehl hioe foamean * SAfya

UG’ & FEeAT TAT9H Shell 7

(A) @ faaesre

(B) T9.31. HeeR?

(C) =it sfag

(D) sy 2R

1es TR fooseh Ir=a ‘=g it s
WAyt HIMET AR Toedl 7
(A) T

(B) eIl

(C) dfgw=hi
(D) T e

EeAlelten! koAl fammed ¢ sTeH-g=Aam

Tdcs '3 HeEfed 3T ?

(A) STIYRTET AT
(B) .. Tl
(C) fagr. HEe

(D) i srfag
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68. Which of the following political | 68, @it Fifeea a1 fo=mEaN Arewn
thought was proposed by the thinker TR BT R SR )
Kautilya ?

(A) gwm fagE
(A) Saptang Theory
(B) <ramen T~F
(B) Four Pillar State
C) Y=mftel &R
(C) Panchsheel Doctrine ©
(D) Seven Fold Revolution (D) Fshid
incorrectly matched ?
e ?
(A) Jaiprakash Narayan - Why
. (A) SEYRET T - = iy
Socialism
(B) Ram Manohar Lohia - Marx, (B) UM HART difean - A, e afe
Gandhi and Socialism .
EINIGER]
(C) Shri Aurobindo - The Mother
(C) it 3rfag - € |
(D) V.D. Savarkar - Essays on
Geeta (D) fa.g. WeEet - THS {9 T
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70. Match the following lists of thinkers | 70. w=el feciear €9 JRMmY@ foamed 9

and their respective political parties : e TSTHhE U AT AT SISl

List I L 5
aret 1

(@) Tl 9.3 3TaEHt

(@) Dr. B.R. Ambedkar

(b) Jawaharlal Nehru

(b) SO TEE
(¢) E.V. Ramasamy

(¢) T TwErH
(d M.N. Roy
(d) TH.TH. U9
List II
et 11

(1) Indian National Congress

(1) 9= TR Hiod

(2) Independent Labour Party .
(2) w@ad "X U&

(3) Communist Party of India

(3) YT HHF 94
(4) dJustice Party

(4) S=E TE
Codes : HadiF :

@ ) © (@ @ ® © @
Q@ @O @ ® A @ O @ @
B @ 1 @ @ B @ 1) @ @
© @ @O @ @ © @ @O @ @
D @ @O @ @ D @ @O @ @
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71. Identify the incorrect statement : 71. @% fa9u™ @ -
(A) Politics and economics are tied (A) TSTHROT AT 31FHRIT & TSHEHIIT
to each other e o
B) The t f dopted N
(B) The type of economy adopte (B) qercHs Ustehia favasomaed
by any state is essential in R N
chllicdlel USHH plYIcH] Hehlzd]
comparative political analysis )
sefeqaed=r aed &HE AT
(C) After globalization economies
d fageToor L0 AETTS A
of states have witnessed sea
(C) SIFTIcERTER O TSTe SALeTeril-
change
e HiE 98d FeN oY
(D) World system theory is not
related to world’s capitalist (D) wrfqe saewen fagia s
system TETEINE! STIRITN T et
72. Which country had maximum | 72, Ffeq sAftdha S U Haifos
number of colonies in Latin e s
America ?
(A) €
(A) Spain
(B) et
(B) Portugal
(C) France ©
(D) Britain (D) fseA
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73.

74.

75.

What was the biggest challenge
before African Nationalism ?

(A) Linguistic

(B) Economic

(C) Tribal

(D) Religious

Which of the following is not the

feature of globalization ?

(A) Restricted Trade

(B)

Liberalization

(C) Free flow of knowledge and

technology

(D)

Free flow of investment across

border

Through 1973 Constitution of
Pakistan which form of Government

was introduced ?

(A) Presidential

(B) Parliamentary
(C) Semi-Presidential

(D) Autocratic

73.

74.

75.

APR - 15224/11—-D

SRR TgaTRTde Haid AlS 3T I
Bd ?

(A) e

(B) afifeish

(C) e

(D) ®iHeh

WU ST STRTTeh SR LUl TS
T ?

(A) wfgafad =R
(B) SeRIshT

(C) I Ao T b o8

(D) HHueiiehs [aaueh=l T% TaT8

1973 =41 U= TSTEE-gR hIve]

Gl TR AT el ?
(A) e

(B) &

(C) = sreaafa

(D) iy
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76. Who is considered the father of | 76. e T=EETT STk I =
American Constitution ? S ?
(A) James Madison (A) ST AERA
(B) Abraham Lincoln (B) efsieH feieht
(C) George Washington (C) ifsl =iffered
(D) Thomas Jefferson (D) ofH| SheH
77. Who declared Emergency in | 77. 25 <SHaR 1975 st AFTCTGII SO
Bangladesh on 25th January 1975 ? O Gifed el ?
(A) Yahya Khan (A) Il @™
(B) Sheikh Mujibur Rehman (B) ¥r@ Heiiegl BUM
(C) Zahurul Haq (C) #gecT Bh
(D) Mufti Ahmed (D) T STEHT
78. Why did the theory of modernization 78, Wmmwm S 2
emerged ?
(A) To guide the developing (A) TommaTeiel SO foehae ARTReH
countries about their
L
development
(B) Providing loan to developing (B) fasresiiad 291 i ol
countries
(C) Giving economic support to the ©) A Hed
developing countries N o
(D) TIRTRIe QIMET USThIL H@-
(D) To give lessons of politics to the
developing countries <
37 [P.T.O.



79.

80.

81.

Who believed that democracies have

dominance of elite class ?
(A) S.M. Lipset

(B) Vilfred Pareto

(C) C.B. Macpherson

(D) Samuel Huntington

Democratic centralism is the feature

of which Political Party ?

(A) Democratic Party

(B) Chinese Communist Party
(C) Conservative Party

(D) Indian National Congress

In which theory has Michael
Foucault proposed to draw attention
to the relationship between power

and thought patterns ?
(A) Feminism

(B) Post-Modernism
(C) Structural Theory

(D) Realist Theory

79.

80.

81.

APR - 15224/11—-D

HARIMEHEY AT e o= 279
T HIo ®ew ?

(A) 9. . faude
(B) fache W=

(C) §l. =i HerheEA
(D) HRpaTa gfdred

TIEHIITET Shaleh¥ul § ShIvIeT TSTehia T&TTs
Sfeme o’ ?

(A) SaRfesw 9gy

(B) ot wegfie e

(C) Fe=few T

(D) YR TR HiUd

TTIehel Whice AT T ST fo=mr=
TG Wl HeHeRS T8 SUUIHIS! 10l
fagra Areen ?

(A) Hiar

(B) SR-3TYfTehrellg

(C) TEATeTel g

(D) el fagrd
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82. Social movements grew after 1990.

They are not caused by which of the

following factors ?

(A)

(B)

()

(D)

Globalization has created new
opportunities and development

in various fields

Increased economic and social
inequality. So there was a need

to oppose all of them

Anti-globalization, anti-

capitalist or global justice

movements began to be
included
After 1990, less participation of

people in decision-making
process, emphasis on centra-

lization trend

APR - 15224/11—-D

82. 1990 Fd HHIST TesclesHES AT STl

AT BITEAeTIeh! hTUIdT F1eedh RO

TE 2

(A)

(B)

(®)

(D)

ST o Ues a4 Helt Suersd

e orfur fafgy asma fawmg

ElTed]

amfeter emfor |raTfSTer STHEMaT =0d

qE el TS A ga oy

FHLOATE]  STEIhdl A0 STl

r~

SIIEEACTUIE!

e, Areaavel

foriedt fepar STiferer =mamrEmet o=

[ad LY Y
doodao| | H[AR] Bl Al

N e

1990 =ar T7via ufsraa Srerr=n sl

n

e, HEhivl Yaxier o feen
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83.

84.

85.

When did the United Nations

announce the Women’s Decade ?
(A) 1976-1985
(B) 1975-1985
(C) 1995-2005
(D) 1985-1995

Which conferences of NAM was held

in Venezuala in 2015 ?
(A) 17th
(B) 15th
(C) 16th
(D) 9th

Blue economy is related in which

sector ?

(A) Land
(B) Minerals
(C) Marine

(D) Oil

83.

84.

85.

APR - 15224/11—-D

TIH U F9H Al 9 HEl SRR
Hel ?

(A) 1976-1985
(B) 1975-1985
(C) 1995-2005

(D) 1985-1995

ST 49 2015 1 A fohaet aReg
qet Bt ?

(A) 174t
(B) 15%it
(C) 164
(D) 9ot
S SR § & heeh Heifq oy ?

(A) 9qHm

(B) &=

(C) &gs

(D) T
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86.

87.

Which US President announced the
Star War program ?

(A) Carter
(B) Clinton
(C) Nixon

(D) Reagan

Statement (A) : The main issue
in international politics is the
inability of the world political
system to solve the problems arising

from globalization.

Reason (R) : The Westphalian
system has failed to satisfy long-term

holdings.
Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are correct, but

(R) is not the correct explanation

of (A)
©)

(A) is correct, but (R) is wrong

(D)

(A) is wrong, but (R) is correct

86.

87.

APR - 15224/11—-D

TR ST HEHHAMET HHU FHIOR STHHS
T I Aed 7

(A) =T

(B) feried

(C) T

(D) ™

faram (A) : TR USRS J=

e WS SNk e  SEacied

T TR0 SHLvaTd ST oiehid

L= STIH.

~

HRUT (R) : S=HhA IOl S rsehTel

SfEse qui FUA SISl el 3R
Hehdleh :

(A) (A) =Tfor (R) Sr=l TcT 3Tea 3mfu
(R) ® (A) 9 I7g TI=h{0 3

(B) (A) 27T (R) =1 aRIeR 31, TRy

(R) ® (A) ¥ Img TISRIU TRl

(C) (A) TR 3T, 99 (R) T Tl
e

(D) (A) & 3T, 97 (R) & =X T
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88.

89.

Arrange the conferences in their
chronological order under North-

South Dialogue.

(1) Cancun Conference
(2) Brant Commission
(3) Paris Conference
(4) Uruguay Talks
Codes :

A) (1), 2), (3), (4)
(B) (3), (2), (1), (4)
(©) (), (3), 2), (1)
D) (3), (2), @), (1)

“A change is taking place; Asia is
again recognizing its identity.”

Whose statement is this ?
(A) Pt. Jawaharlal Nehru
(B) Smt. Indira Gandhi
(C) Shri. Rajiv Gandhi

(D) Shri Chandrashekhar

88.

89.

APR - 15224/II—D
IR0 HeAET=A1 TR IR A
WT[ :

(1) =T ReE
(2) = uiwg

(3) uR® uftog

(4) %' =l
dahdieh :

(A) (D), (2), 3), 4
B) 3), (2), (1), 4
©) @), 3), (2), (D
D) 3), (2), 4), (D

"I B 3T, STV Rl SAett slied
T G TR ® faum s e ?

(A) T. SR 188
(B) ol sfew wmeh
(C) ot Tig men

(D) st <=EIER
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90.

91.

‘Promotion of international peace
and security’ has been enshrined in

whose Constitution ?

(A) People’s Republic of China

(B) France

(C) India

(D) America

These are the major features of

Indian foreign policy :
() Mutual cooperation

(i1) Peaceful cooperation

(ziz) Expansionism

(v) Respect for mutual sovereignty
A @), (), @)

(B) @), (i), (v)

©) @, @), @), (Gv)

D) @), @), (o)

90.

91.

APR - 15224/11—-D

‘ SIS IIiaT o R y=R ¥

R TSTEE TS hed 3R ?

(A) dyeq Rufssss sifw ==
(B) 4

(C) ¥nrd

(D) U

TRAT TS €T § S afyTsey
aed

() TWER HEHhHE

(i) ¥aamE TR

(1) feramag

(jv) TER WEYHEE e
(A) @), Gi), (i)

(B) &), Gii), Gv)

(©) @), Go), (i), Gv)

D) @), @), (v)
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92.

93.

94.

In which year was Panchsheel

Agreement signed ?

(A) 1951

(B) 1952

(C) 1953

(D) 1954

Agreement 123 is related with ......... .
(A) Indo-USA Civil Nuclear Deal
(B) Indo-Russia Civil Nuclear Deal
(C) Indo-USA Arms Deal

(D) Indo-Russia Arms Deal

The book ‘The India Way’ is written

BY ceveeeeeeiiiins .

(A) Harsh V. Pant
(B) C. Rajamohan
(C) Shashi Tharoor

(D) S. Jaishankar

92.

93.

94.

APR - 15224/11—-D

TEviel ShEl HIvAT a6 ST
el ?

(A) 1951
(B) 1952
(C) 1953
(D) 1954
FIR 123 7 A=ERN FEEd e

(A) TE-gUEU AR eAfias FRR

(B) TS-I¥mn e snftas FR

(C) TE-gudT I FAN

(D) Te-IRM™ I TR

‘Tsfem A’ T
e,

(A) o =& W
(B) ©i. TSTHIEA
(C) vIRT 98

(D) TH. SHTHT
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95. Match List I with List IT and select
the correct answer from the codes

given below :
List I
(@) Deng Xiaoping
(b) Mikhail Gorbachev
(¢) Harry Truman
(d) Golda Meir
List II
(1) USA
(2) USSR
(3) Israel
(4) China
Codes :

(@ b)) © @
A @O @ 6 @
B @ @ @O G
© 3 @ @ @

M 2 @O @ 3

APR - 15224/11—-D

95. ==l I & =t I 3ft Sesan 111 Eetid
Tehaemyd 4 S Hae

et 1
(@ <=0 ferneifin
(b) THeEmEa e
(c) & gmd
(d) Ties HR

et 11
(1) ¥JF THA
(2) FUHTHIAR
(3) =HMEA
(4) =M=
Hehdich :

@ B © @
A @O @ 6 @
B @ @ @O B
© B3 @ @ @

D @ 1 @ 3
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96.

97.

Which of the following countries is

not a member of QUAD ?
(A) South Korea

(B) USA

(C) Japan

(D) Australia

Choose the incorrect statement

regarding India’s role in UN :

(A) India is a strong supporter of
UN efforts for protection of

human rights

(B) India has actively supported
peacekeeping activities of the

UN

(©)

India is the largest donor of

UNDP

(D) India has played consistently
positive role in the UN’s efforts
for disarmament and arms

control

APR - 15224/11—-D

96. Weledeh! vl @91 QUAD =1 He&

e ?
(A) Tfeqor =R

(B) 9 T IR
(C) <um™

(D) ATl

97. FUAHL HRATA YfHehaled Fehi faem

IREEE
(A) AFETR= HUUEEST HYeR

Sl

(B) 9XAM HHF USIEETAT Al

AT wfema aifsan oo e

(C) YA ¥ JuASdr=1 Hafd Hial
SUNIER 3718

(D) T:3rATRT Si T e
T TR TS R ST
RIS ikl asieel 3Tg
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98. The first nuclear arms control | 98 YRaM Wieheen Ufgar 3Tva 9930
measures that India accepted was I WU
the :
(A) 1967 =1 TIHE
(A) NPT of 1967
B) 1972 =M #Hle2-1
(B) SALT-1 of 1972 (B)
(C) PTBT of 1963 (C) 1963 =1 ¥R
(D) CTBT of 1995 (D) 1995 = fatet
99. New development bank has been | 99. ﬂmﬁﬁww Faa
established under which T SO STl o ?
organisation ?
(A) foerg
(A) BRICS
(B) =i
(B) SCO
(C) QUAD ©)
(D) SAARC (D) W
100. ASEAN stands for ................. . 100. ASEAN < of &7 M 3T ?
(A) Association of South-East Asian ' '
Nations (A) <feur-vd oM e wee
(B) Association of Asian South-East (B) fero-gqdf enfyrard wse-tear=h
Nation-State )
HE AT
(C) Association of South-East
American Nations (C) cfygu-ud sThftT o= Hee
(D) Association of South-East and
North (D) =fam-gd 7T SR Gl
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ROUGH WORK
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